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118306 9690 | O] 6| 5| 8| 6] 8| 5/ O 21|SIM, Mec2 / RM1, Mecanisme, RM2, PAC
218306 9646 | 7| 9| 5| 8|10(10| 8] 9 30|SIM / Termoth2, Practica dom
3|8306| 9733 | O] 7| 5] 8] 6| 8] 7| 9 23(-/RM1
418306( 9735 | 3| 6| 4] 8] 5] 0| O] 8 14|SIM, Mecl, Mec2, Termothl / RM1, Termoth2, TCD, RM2, Practica dom
5(8306] 9737 | O] 6] 6| O| 6| 7] 51 0 16|AM, SIM, Mec1, Mec2, DTI2, Termothl / RM1, Mecanisme, TCD, Ed fiz2, RM2, OM1
6| 8306| 9743 | O] 6| 5| 9| 6| 8| 5|10 23|AM, SIM, Mec2 / RM1, Mecanisme, Termoth2, Ed fiz2, RM2, Ed fiz3
718306] 9749 | O 7| 6]|10| 5| 7| 6|10 23|AM, SIM, Mec1, Mec2 / RM1, Termoth2, RM2, VM
818306] 9341 | O O] O] O Ol O] O] O 0|SIM, DTI1, GD / RM1, TCD, RM2, VM
9(8306] 9796 | O] 6] 4| 6| 6| 5] 51 0 18|SIM, Mec1, Mec2, DTI2, TM, Ed fizl / RM1, Mecanisme, Termoth2, TCD, RM2
101 8306| 9798 | O 6] 4| 7| 6| 5] 51 0 18|AM, Mec1, DTI1, PCLP, DTI2, Algebra / RM1, TCD, RM2, VM, Practica dom
118306 9799 | 3| 6| 4| 8| 6| 6] 5| 8 20|SIM / RM1, Mecanisme, RM2, VM, Practica dom
12|8306| 9811 | 5] O] 5] 0] 6] O] 8| 9 19| -/ RM1
13| 8306 8977 | 0| 0] O] 0] 0] O] O] O 0] -/ RM2, MN1, OM1, PAC, Tribologie, VM, Practica dom
141 8306| 9863 | Ol 6] 5| 6| 6| 6] 51 9 23|SIM, Mec2, DTI2, Fizica, Termoth1 / RM1, Mecanisme, Termoth2, Ed fiz2, RM2
15| 8306| 9870 | 3| 7| 5[10| 8|10[ 8| 9 23| -/ RM1, RM2
16] 8306 9875 | O] O] O 6 O] O] O 9 7|AM, Mec2 / RM1, RM2, OM1, Ed fiz3
17]18306( 9917 | O] 6] 5| 8| 5] 7| 8| 9 23[SIM, Mec1, Mec2 / RM1, TCD, RM2, OM1
18| 8306 9928 | 3| 6| 5| 7| 5| 7| 8] 9 23|SIM, Mec2, DTI2, Ed fizl / RM1, Mecanisme, RM2
19(8306| 9938 | 3| 7| 6] 9] 9| 8| 7{10 23(SIMm, PCLP / -
20/ 8306| 9945 | O| 6] 5] O] 5| 5| 5| 9 18|SIM, Mec1, Mec2 / RM1, Mecanisme, Ed fiz2, RM2, VM, Practica dom
2118306( 9950 | O O] O] Ol Ol Of O] O 0[SIM, Mec1, Mec2, DTI2, Termothl / RM1, Mecanisme, Termoth2, TCD, RM2
22(8306( 9994 | 3| 6| 4 8| 6 8| 5[ 9 20(SIM / RM1, RM2, Ed fiz3
23| 8306 10003 | O| 6| 5| 7| 6| 6] 9| 8 23|Mec2 / RM1, RM2
248306 10007 | O| 6] 4| 8| 6| 7] 5| 8 20[SIM, Mec2, DTI2 / RM1, Mecanisme, TCD, RM2, OM1
25| 8306 10008 | O| 7| 5| 7| 5| 6] 8| 9 23|Mec1l, Mec2 / RM1, RM2, OM1
26| 8306 10015| 0| 6| 4| 8| 5| 5] 5(10 20|Mecl, Mec2 / RM1, Termoth2, TCD, RM2, OM1




